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L EEX| B (HK-780) L130 x W110 x H80 ea 9,000 (AH2§7+2 2025 06¥ 250p
OADNEHES et E X H(HK-801) L106 x W95 x H25 ea 28,000 |72H7tZ 20253 06 250p
ArZt &2t E X (HK-813) L110 x W115 x H72 ea 30,000 |2{7t4 20254 06 250p
Of 2 &etaX| E(HK-815) @125 x H50 ea 84,000 |27t 20253 06 250p
ArZt &2t E X H(HK-A9) L132 x W123 x H72 ea 60,000 |217t4 20254 06 250p
US4t SEE B H K| H(HK-A10) @138 x H38 ea 70,000 |7247+2 2025'3 06& 250p
AHZH(AH)E2EEX| H(HK-A12) L110 x W110 x H70/20 ea 34,000 |217t4 20254 06 250p
Of 2 ek& 2t HE X| H(HK-152-2B) @125 x H48 ea 80,000 |72{7tZ 20253 06 250p
Of 24 ek 2t H X| H (HK-152-4B) @125 x H48 ea 80,000 | 7217t 2025'H 06 250p
Of 2 ek& 2t H X| H(HK-153-2B) @130 x H48 ea 80,000 |27t 20254 06 250p
Of 24 ek& 2t H X| H (HK-153-4B) @130 x H48 ea 80,000 | 7217t 2025'H 06 250p
O ZA2E(HA) NO.5200 kg 18,000
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Ol ZA 2 E(THA) 0.15 k 2,700 2,700
Sgos 0.0143 ol 221,506 3,168 3,168
2808 0.0143 ol 169,804 2,428 2,428
M EH| 5 280 280
(2 A1 2,980 5,596 8,576
Y 2aXE MK

O ZA|2E(HA]) 0.15 2,700 2,700
Egos 0.0700 221,506 15,505 15,505
2808 0.0700 169,804 11,886 11,886
STER 5 1,370 1,370
[ Al 4,070 27,392 31,461
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1. XpxfH|
UL H X| & (HK-780) L130 x W110 x H80 1 ea 9,000 9,000 9,000
(2 4 9,000 9,000
2. AX|H|
TEEXY 4K ea 2,980 2,980 5,596 5,596 8,576
T RERH H] FXi=H[2| 5% % 9,000 450 450
[2& A1 3,430 5,596 9,026
(g 41 12,430 5,596 18,026
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cHot =Rl THot =R THot =R

1. XpxfH|

AT EY S EX|H(HK-801) L106 x W95 x H25 1 ea 28,000 28,000 28,000
[ 4 28,000 - - 28,000
2. AX|H|

TEEXY 4K 1 ea 2,980 2,980 5,596 5,596 8,576
T RERH H] FXi=H[2| 5% 5 % 28,000 1,400 1,400
[2& A1 4,380 5,596 - 9,976
[ 41 32,380 5,596 - 37,976




z e o7t &

= At H| B 7 (")
33 T =g chel WL 2| 4| X
oA
cHot =Rl THot =R THot =R

1. XpxfH|

AtZt& 2t EX| B (HK-813) L110 x W115 x H72 1 ea 30,000 30,000 30,000
[ 4 30,000 - - 30,000
2. AX|H|

TEEXY 4K 1 ea 2,980 2,980 5,596 5,596 8,576
T RERH H] FIiZH[2l 5% 5 % 30,000 1,500 1,500
[2& A1 4,480 5,596 - 10,076
[ 41 34,480 5,596 - 40,076
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1. XpxHH|

Of 2 & 2 E X| B (HK-815) @125 x H50 1 ea 84,000 84,000 84,000
[ 4 84,000 84,000
2. AX|H|

IS S 2EX Y MK ea 4,070 4,070 27,392 31,461
T RERH H] FXi=H[2| 5% % 84,000 4,200 4,200
[2& A1 8,270 35,661
[ 41 92,270 119,661
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1. XpxfH|

AtZt& et EX| B (HK-A9) L132 x W123 x H72 1 ea 60,000 60,000 60,000
[ 4 60,000 - - 60,000
2. AX|H|

TEEXY 4K 1 ea 2,980 2,980 5,596 5,596 8,576
T RERH H] FIiZH[2l 5% 5 % 60,000 3,000 3,000
[2& A1 5,980 5,596 - 11,576
[ 41 65,980 5,596 - 71,576
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1. XpxHH|

Y4 St B X H(HK-A10) @138 x H38 1 ea 70,000 70,000 70,000
[ 4 70,000 - - 70,000
2. AX|H|

IS S 2EX Y MK 1 ea 4,070 4,070 27,392 27,392 31,461
T RERH H] FIiZH[2l 5% 5 % 70,000 3,500 3,500
[2 4] 7,570 27,392 - 34,961
[ 41 77,570 27,392 - 104,961
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1. XpxfH|

Of 2otk & et E X| H(HK-152-2B)  |@125 x H48 1 ea 80,000 80,000 80,000
[ 4 80,000 80,000
2. AX|H|

IS S 2EX Y MK ea 4,070 4,070 27,392 31,461
T RERH H] FXi=H[2| 5% % 80,000 4,000 4,000
[2& A1 8,070 35,461
[ 41 88,070 115,461
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1. XpxfH|

Of 24t St & et E X| H(HK-152-4B)  |@125 x H48 1 ea 80,000 80,000 80,000
[ 4 80,000 80,000
2. AX|H|

IS S 2EX Y MK ea 4,070 4,070 27,392 31,461
T RERH H] FXi=H[2| 5% % 80,000 4,000 4,000
[2& A1 8,070 35,461
[ 41 88,070 115,461
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1. XpxfH|

Of 2otk & et E X| H(HK-153-2B)  |@130 x H48 1 ea 80,000 80,000 80,000
[ 4 80,000 80,000
2. AX|H|

IS S 2EX Y MK ea 4,070 4,070 27,392 31,461
T RERH H] FXi=H[2| 5% % 80,000 4,000 4,000
[2& A1 8,070 35,461
[ 41 88,070 115,461
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1. XpxfH|

Of 24tk & et E X| H(HK-153-4B)  |@130 x H48 1 ea 80,000 80,000 80,000
[ 4 80,000 80,000
2. AX|H|

IS S 2EX Y MK ea 4,070 4,070 27,392 31,461
T RERH H] FXi=H[2| 5% % 80,000 4,000 4,000
[2& A1 8,070 35,461
[ 41 88,070 115,461




